Area and Area of a Sector

Formulas:

Area of a Circle: 7r?

Area of a Sector: %Zg , Where @ is the C&M ﬂ't/\g[b

Example 1: Find the exact area of the circle.

Example 2:
a. The area of a circle is 58 square inches. Find the radius. A = ’T’rl -
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c. The area of a circle is 106 square centimeters. Find the diameter.
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Example 3: Given the diagram to the right to find the area of the shaded sector. mZCBA =150°
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Example 4: Find the area of the shaded region.
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Example 5: Find the area of the shaded region.
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d. radius = 10 cm.
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Skills Practice: Area and Area of a Sector

1. Find the exact area of the circle.
a. b.




Find the areas of the sectors formed by angle ACB.
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Use the diagram to find the indicated measure.

6. Find the area of ®S 7. Find the area ©S 8. Find the area ©S
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9. The area of ©Z is 124.44 square centimeters. The area of sector XZY is 28 square centimeters. Find
the indicated measure.
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10. Find the area of the shaded region.
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11. Pizza A pizza is cut into 8 congruent pieces as shown. The diameter of the pizza is 16 inches. Find the
area of one piece of pizza. = B

12. Clock A wall clock has an area of 452.39 inches. Find the diameter of the clock. Then find the area of
the sector formed when the time is 3:00 as shown.
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